1. A normal distribution has a mean of 50 and a standard deviation of 4.

a. Compute the probability of a value between 44.0 and 55.0.

b. Compute the probability of a value greater than 55.0.

c. Compute the probability of a value between 52.0 and 55.0.

2. The National Collegiate Athletic Association (NCAA) reported that the mean number of hours

spent per week on coaching and recruiting by college football assistant coaches during the season

is 70. A random sample of 50 assistant coaches showed the sample mean to be 68.6 hours,

with a standard deviation of 8.2 hours.

a. Using the sample data, construct a 99 percent confidence interval for the population mean.

b. Does the 99 percent confidence interval include the value suggested by the NCAA? Interpret

this result.

c. Suppose you decided to switch from a 99 to a 95 percent confidence interval. Without performing

any calculations, will the interval increase, decrease, or stay the same? Which of the

values in the formula will change?

3.The owner of Britten’s Egg Farm wants to estimate the mean number of eggs laid per chicken. A

sample of 20 chickens shows they laid an average of 20 eggs per month with a standard deviation

of 2 eggs per month.

a. What is the value of the population mean? What is the best estimate of this value?

b. Explain why we need to use the t distribution. What assumption do you need to make?

c. For a 95 percent confidence interval, what is the value of t?

d. Develop the 95 percent confidence interval for the population mean.

e. Would it be reasonable to conclude that the population mean is 21 eggs? What about 25 eggs?

4. Refer to the Baseball 2000 data, which contains information on the 2000 Major

League Baseball season. There are 30 teams in the major leagues, and 7 of them have home fields

with artificial playing surfaces. As part of the negotiations with the players’ union, a study regarding

injuries on grass versus artificial surfaces will be conducted. Five teams will be selected to participate

in the study, and the teams will be selected at random. What is the likelihood that two of

the five teams selected for study play their home games on artificial surfaces?

Set 2 — Major League Baseball

x1 _ Team

x2 _ League (American _ 1, National _ 0)

x3 _ Built (Year Stadium Was Built)

x4 _ Size (Stadium Capacity)

x5 _ Salary (Total 2000 Team Salary $ Mil)

x6 _ Attendance (Total 2000 Team Attendance)

x7 _ Wins (Number of Wins in 2000)

x8 _ ERA (Earned Run Average)

x9 _ Batting (Team Batting Average)

x10 _ HR (Number of Home Runs for the Team)

x11 _ Surface (Natural _ 0, Artificial _ 1)

x12 _ Stolen (Stolen Bases)

x13 _ Errors (Team Errors)

x14 _ Year
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[image: image3.png]ow  Team Wins  ERA  Bating  HR  Surface  Stolen  FErors
1 Boston [ 423 0267 167 0 318 109
2 New York Yankees a7 478 0217 205 0 182 108
3 Cakland o1 458 0210 239 0 184 184
4 Baltimore 7 537 0272 184 0 208 116
5 Ananeim 82 500 0280 26 0 202 184
6 Cleveland %0 484 0288 21 0 21 2
7 Chicago % 488 0286 216 0 158 183
8 Toronto 8 514 0215 204 1 108 100
9 Minnesota 6o 514 0210 116 1 128 102
0 Tampa Bay 6 486 0257 162 1 228 118
n Texas 7 552 0283 173 0 180 185
2 Detroit 7 an 0215 1 0 10 105
3 Seatle o 449 0269 198 0 164 %
4 Kansas City id 548 0288 150 0 26 102
5 Atlnta % 405 021 1 0 108 129
6 Arizona 8 435 0285 179 0 204 107
7 Houston 72 5.2 0218 29 0 222 183
8 Cincinnati 8 433 0274 20 1 162 m
0 New York Mets o 418 0263 198 0 265 118
20 Pitsburgh 6 494 0267 168 1 202 182
3 Los Angeles 8 410 0257 211 0 212 185
22 5an Diego i 452 0254 157 0 212 19
3 Wortreal 7 513 0266 178 1 25 182
24 San Francisco o7 421 0218 26 0 104 %
5 St Louis % 438 0210 25 0 138 m
6 Florida 7 450 0262 160 0 208 125
7 Phiadelphia 65 477 0251 i 1 154 100
8 Milwaukee 7B 463 0266 1 0 172 118
20 Chicago Cubs 65 525 025 183 0 188 100
0 Colorado & 528 0204 161 0 204 %





5.  Refer to the OECD data , which reports information on census, economic, and

business data for 29 countries.

a. Develop a 90 percent confidence interval for the mean percent of the population over 65 years.

b. Develop a 90 percent confidence interval for the mean energy use.

x3 _ Total area of country in thousand square kilometers

x4 _ Population in thousands

x5 _ Percent of population over 65 years of age

x6 _ Exchange rate per U.S. dollar

x7 _ Gross Domestic Product at current exchange rate in billions of dollars

x8 _ Energy use in millions of tons of oil equivalent

x9 _ Index of total manufacturing (1900 _ 100)

x10 _ Total labor force

x11 _ Region (1 _ Far East, 2 _ Europe, 3 _ North America)
seems to be most representative of the data?
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